KEY REVIEW

Multiple-Choice Questions

_____
1.
Integrating all aspects of production into one automated system is:




A.
CIM




B.
CAD




C.
CAM




D.
FMS




E.
NC machines

_____
2.
A ______ is a totally automated manufacturing system that consists of machining centers with automated loading and unloading of parts, an automated guided vehicle system for moving parts between machines, and other automated elements to allow unattended production of parts.




A.
CIM




B.
CAD




C.
CAM




D.
FMS




E.
NC machines

_____
3.
A contemporary approach to product and process design that utilizes the power


of the computer is:




A.
CIM




B.
CAD




C.
CAM




D.
FMS




E.
NC machines

_____
4.
The risk that the firm's employees or managers may quickly abandon the technology when there are short-term failures or avoid major changes by simply automating the firm's old, inefficient processes and therefore not obtain the benefits of new technology is:




A.
Environmental risk




B.
Market risk




C.
Organizational risk

D. Operational risk

_____
5.
Individual pieces of automation can be combined to form:

A. Manufacturing cells

B. Numerically controlled machines

C. Industrial robots

D. All of the above

KEY PROBLEMS

6. The Evans Water Heater Company is considering purchasing a robot to aid in welding and fabrication of the external metal housings for both gas and electric hot water heaters.  Using the payback formula, decide if the robot is a good investment.  The total capital investment is $2.5 million dollars.  Labor costs replaced by the robot are $560,000.  Depreciation is $50,000 per year and the annual maintenance cost for the robot is $25,000.  The robot is expected to work 2.5 times as fast as a human worker.

7. A local fast food burrito restaurant, Burrito Plus is considering whether to purchase a robot burrito maker. The machine would select a tortilla, fill the tortilla with the correct ingredients and salsa, taken from the computer ordering terminal, and fold and wrap the pizza.  The owner, faced with difficulty in finding employees to staff the restaurant is considering the robot to replace an average of three employees per unit.  Using the payback formula, decide if the pizza robot is a good investment.  The total capital outlay per restaurant is $1 million dollars.  Labor costs replaced by the robot are $59,000.  Depreciation is $30,000 per year and the annual maintenance cost for the robot is $22,000.

